DAILY BASIS ASSIGNMENT
DAY: MONDAY CLASS: V DATE:04.05.2020

SUBJECT: ENGLISH

l. The following questions are from unit — 1 (The Invention of Shoes) of literature
book.
1. What was the name of the king?
a. Gobu Rai
b. Tanner
c. Hobu
d. Sobu
2. What was the problem of the king?
a. People coughed and choked
b. No boat could move on the river.
c. Lack of carpets
d. Dust dirty the royal feet
3. Why did all the king’s subjects sneez and cough?
a. Because of water
b. Because of dust
c. Because of King’s anger
d. Because of leather
4. What was the brilliant idea of the king?
a. Pouring water wherever a speck of dust is seen
b. Covering the earth with mats
c. Keeping himself indoors
d. Wrapping the whole land in leather
5. Who solved the king’s problem?
a. Gobu Rai
b. The chief tanner
c. Scientists
d. Scholars

SUBJECT: EVS

I. Choose the correct answer.



1. In order to facilitate dispersal of seeds by different agents, many seeds and fruits have
developed

a. Special features b. Migration c. Germination d. Stimulation
2. The seeds of cotton are dispersed by
a. Wind b. Air c. Water d. Animal
3. The agent which disperses seeds having wings or hair on them
a. Wind b. Air c. Explosion d. Animal
4. Seeds of which plants are carried away by water
a. Sycamore b. Pine trees c. Mangrove plants d. Desert plants
5. The seeds or fruit of plants growing near or in water are dispersed by

a. Water b. Birds c. Leaves d. Flowers

SUBJECT: MATHS

I. Choose the correct option:

1.65423 X ........... =0
a) 1 b) 0 c) 23 d) 11

2. 59731 X 1=

a) 0 b)100 0)731 d)59731
3. 115303 X 100 =...........

a)100 b)115303 ¢)11530300 d)0

4. 123X 15=15X .......

a) 0 b) 123 c) 1 d) 150
5. 42X 3000=..........

a) 1000 b) 100 ¢)126000 d) 1

SUBJECT: COMPUTER

l. Choose the best options from those given below:



i) RAM stores the

(a) Data (b) Software (c) Both (a) and (b) (d) program
i) A computer has large in which it can store very large volume of information
(a) Power (b) Strength (c) Memory (d) Both (a) and (b)
iii) Primary memory is the memory of the computer
(@) Internal (b) External (c) Universal (d) Both (a) and (b)
iv) The two digits in binary system are
(@ land2 (b) 4 and8 (c)5and 6 (dOand1
v) 8 Bits make a
(a) Kilobyte (b) Nibble (c) Byte (d) Megabyte
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